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Results by Question

1. Please do question 1 which is on the screen in class. (Short Answer)

Responses

Percent Count

C(c) 81.05% 77
B 5.26% 5

D 5.26% 5

F 421% 4

1 1.05% 1

45 1.05% 1

A 1.05% 1

G 1.05% 1

Keyword(s): C




2. Please do question 2 which is on the screen in class. (Short Answer)

RLOGC
O(RLOGC)
CLOGR
O(CLOGR)
RLOGC(c)

O(R)

Responses

Percent Count
11.7% 11
7.45% 7
6.38% 6
532% 5
5.32% 5
4.26% 4




O(RLOG(C))
RLOG(C)
CLOGR
O(CLOGR)
O(C+R)
O(C+RLOGC)
O(CLOGC)
ORLOGCO)(c)
O(ICI+RI)

0(R LOG(C))

1

20

C

C+R
C+CLOGR
C+R

CLOG(R)
LOG(C+R)
O(CLOGR)
O(C+R)

O(C + R*LOG(C))
O(CLOG(R))
O(CR)?

O(C*)

O(C*R)

O(C+R LOG C)
O(CLOG(R))
O(CR)

O(E)

O(R LOG(C))

O(R+CLOGC)

4.26%

4.26%

3.19%

2.13%

2.13%

2.13%

2.13%

2.13%

(3]

2.13%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%

1.06%




O(RLOGR) 1.06% 1

O(V LOG(C)) 1.06% 1

O(ICl + IRI) 1.06% 1

O(IVI+IEI) 1.06% 1

R * LOGC 1.06% 1

R LOG(C) 1.06% 1

RA2LOG C 1.06% 1

RLOG(R) 1.06% 1

V +ELOG(V) 1.06% 1

IClI + IRI 1.06% 1

IRILOG(ICI) 1.06% 1
Keyword(s): O(R log C);R log C

O(RLOG(C)) o

O(R LOG(C)) v B (E CL?gévg( )
RA2 LOG C
O(C+R LOG C) 0® O(C+R) RLOG(C)
coGR CLOGR ="RLOG(C)
+

O(CR)?

O(IVI+IE]) O(R If;)RG C)
R LO G ‘ O(R LOG(C))
O(C+R) O(C LOG R)

O(C*R)
O ( R) O(RLOGR)

R * LOGC
O(ICI + IR)

O(CLOG(R)) RLOG(R) R LOG C
IRILOG(|C]) C O(CLOG(R))

0(C*)
O(C+RLOGC)

O(C + R¥LOG(C))



3. Please do question 3 which is on the screen in class. (Short Answer)

B(c)

40

Totals

Responses

Percent Count
63.44% 59
13.98% 13

8.6% 8
6.45% 6
5.38% 5
1.08% 1
1.08% 1

Keyword(s):
Keyword Matches:

B
59



40

4. Please do question 4 which is on the screen in class. (Short Answer)

O(C+R)
C+R
6](®))

O(C +R)
C+R

C

Responses

Percent Count
15.38% 14
8.79% 8
8.79% 8
7.69% 7
6.59% 6
4.4% 4




OR)(c)
R(c)
RLOGC
CLOGR
O(CLOGC +R)
O(R+C)
O(ICI+IRI)
RLOGC

1

17

E LOG(V)
LOG(C+R)
LOGC
NLOGN

O (C LOGR)
O(CLOGR)
O(CLOG(R))
O(E)
O(LOGR)
O(RLOG(C))
O(RLOGC)
O(VLOGE)
O(V LOG(R)
O(ICI + IRI)
O(IRILOGICI)
O(IVI+IEI)
R+C

R+C
RLOG(C)
RLOGR

ICl + RI

4.4%

4.4%

33%

22%

22%

2.2%

22%

22%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1.1%

1

1.1%

] Kevvordo

1

OR):R



Totals

o(cLoer) (¢l + IR RLOGC LOG(C+R)

17 E “
oE) 1 E LOG(V)
RLOG(C)
O(RLOG(C))
oler=IrD O(V LOG E)
NLOGN
RLOGR
O(V LOG(R) O(CLOG(R))
O(C LOG R)

C+R C+R opr)

OR+C) T Loac OCI+IR])

O(LOGR)

O(CLOGC + R)

5. Please do question 5 which is on the screen in class. (Short Answer)

Responses

Percent Count
G(c) 44.29% 31
C 18.57% 13
F 14.29% 10
B 10% 7
D 7.14% 5
1 1.43% 1




16

A

NLOGN

1.43%

1.43%

1.43%

16

1

NLOGN

6. Please do question 6 which is on the screen in class. (Short Answer)

Responses

O(C+R)

R(c)

Percent

Count

9.09%

7.27%

Keyword(s):

G



C

C+R
CLOGR

O(C +R)
O(CLOGR)
RLOGC
¢((®)
OR)(c)
O(RLOG(C))
1

2

C+R
CLOGR
C*C

Cr2

CR

LOG(R)
NLOGN
O(C+R LOG C)
O(CLOG(R))
O(CR)
O(ELOG V)
ON)
O(RLOGC)
O(Cl + IRI)
O(ICI+IRI)
R+C
RLOGC
RLOG(R)
V+E

ICl + RI

545%

5.45%

5.45%

545%

545%

5.45%

3.64%

3.64%

3.64%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1.82%

1

1.82%

I Kevordo

1

OR);R



T

O(RLOG(C)) Logry
OéL%GwZFJ;il) RLOGC o(c+r oG ¢y

oR) O(C LOG R) v:e

o(E Log V) CC

NLSGT\IC C O(C+ R O(f):(Z:R)

el C+R ™ ; CLOGR

O(CLOG(R)) cr CLOGR

O(C + R)z “*®



